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The figures in the right hand margin indicate marks
GROUP-A

( Mathematics') -

[ Marks : 45 ]

1. Answerany five questions: 2x5

(a) Find the 25th term of the AP series
9,6,3,0,-3, ...

( Turn Over )



(2)

(b) For what value(s) of m will the quadratic

equation x*—(m~—1)x+m +% =0 has

real and equal roots?

(¢) What do you mean by Common difference
inAP?

(d) Prove that log6 =logl + log2 + log3, all

logarithms taken w.r.t the base 'a’.

(¢) Whatrate of interest does a person get who
is paid at the rate of 5% C.I payable
payable half yearly ?

(n+1)! =n3_
(n-2)

(f) Show that

(g) Whatis the present value of 10,000, deposited
5 years back at 8% p.a., compound interest
payable on yearly basis.

(h) Provethat
log, log, log,16 = 1.
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(3)

2. Answerany five questions :- o 4 %3

(a) Asumofmoney invested at compound Interest
becomes 7 17,640 at the end of 2nd year

and ¥ 18,522 at the end of 3rd year. Find

the original sum and the rate of interest.

(b) An executive committee of 6 is tobe
formed from 7 Indians and 4 Foreigners. In
how many ways can this be done (i) when
the committee contains at least 2 foreigners
and (i) when the committee contains exactly
2 foreigners ? '

) If

logx logy logz
y-z z-x x-y

show that x*y¥z" = 1.

(d) Find the sum of all integers from 1 to 100
at divisible by 3 and 5.
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(e)

K3

(8)

()

Answer any one question:

(a)

(4)

Ifa, b, carein GP.and " =" =¢’, then
11 2

show that —+—=_"-
x z ¥

Simplify :

1
—2—log1025—210g103+10g1018

If a, b, c are in A.P., show that—
(b +c), (c + a), (a+ b) are also in A.P.

If P = 12 x P, s then find n, where nis a
positive integer.

inl_

(i) Provethat
xlog y-logz x_ylo‘g:—logx % Zlogx-—lgg P 1]

(if) If "P, : "P,=2:1 find the value of n.

(iif)Solve x? — 15x + 56 = 0. 5+5+5
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(35)

(b) () What do you mean by perpetual
~ Annuity ? '
(u) A person borrows X 4000 on the

condition that he w1ll repay the money
with compound interest at 5% p-a. in6
equal annual instalments, the first one
being payable at the end of the first year.
Find the value of each instalment. 5+ 10

" GROUP —-B

( Statistics )

[ Marks : 45 ]

4. Answer any five questions : 2xS5

(¢) State the importance of weights in the
construction of Index Number.

(b)) What is the value of the mode when
arithmetic mean = 26-8 and median = 2797

(¢) Whatdo you mean by Scatter diagram 2
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(6)

(d) What do you mean by prlmary data and
secondary data ?

(¢) What do you mean by Regression ? Write
down the two equations.

(f) What is 'Geometric mean' ? State any one
application of it.

(g) Whatis Primary data ?

(h) Whatis Lorentz Curve ?

5. Answer any four questions : 5x4

(a) What do you mean by Statistics ? Discuss
about the chief _ characteristics of
statistics.

(b) Calculate the correlation co-efficient from
the following data :

x{12 011 {2619 Tiel13{22126
y |17 |7 3112014 27 ‘18 38 |31
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(7)

(¢) The A.M. calculated from the’ following -
frequency distribution is known to be 72-5.
Find the value of x. ' -k

Marks |30-39 |40-49 | 50-59{60-69 |70-79 | 80-89 |90-99

No. of
students| 2 3 11 20 x 25 7

(d) Construct Fisher's ideal index number for
the following data:

Commodity 2010 2018

A 8 6 12 5
B 10 5 11 6
C ¥4 8 8 5

. (e) Prepare a bar chart from the following
data: -
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(8)

Country FDI
(in crore)
Germany 350
Japan 160
UK 480
USA 1200
Australia 260
Canada 450

(f) What is 'Scatter diagram'? With the hclp
of a Scatter diagram show the different
kinds of correlation between two variables

xand y.

(g) State the properties of Linear Regression.

6. Answer any one question:

(a)

(i) Write down the

properties
correlation co-efficient.

I15x1
of

_ (#7) From the following data, obtain the two

- regression equation.

| Sales

T 1
01197|108!121l67 |124

51

73

11157

Purchase

71175|69 |97 {70 (91

39

61

80 147
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(9)

(b) () Compute mean, median and mode from
the following distribution :

Wages 40-50 150-60 60-70|70-80{80-90| 90-100

No.ofMen| 15 | 33 | 63 | 83 | 100 { 115

(i) Write down the propetties of Arithmetic

Mean. 10+5

[Internal Assessment-10 Marks]

FHIW
%Y 21T ARSI 2 [T
TGN TS fRveq ORI GG (RS HTHH

GROUP - A
( Mathematics.)

[ Marks : 45 1
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(10)

St CF G 275/ 4TI Ted WIS ¢ X €

() A TR 25 N o1 e TR ¢
9. 653, 0.3, ..

(%) m @R T G S FART
xz——(m—-l)x+m+% = () «3 T TR S
T 2% ?

(5 TR Asfere TR Sed IS & i 2

(9) o933 @, log6 =logl + log2 + log3,
FHCH base T 'a' |

(8) 5% mﬁam,ﬁwwwc@, W e

I TS 77 #NZI ?
1)1
(5) TS @, ((::jz))!: -

(z) 5 <= et 10,000 7= IR 8% o0E
T TR TS o1 9 7

(&) =z 34 (@, log, log, log,16 = 1.
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(1)

2 Y GG 756 ATNE $ag WIS ¢ g8 xe

(F) mﬁmqmﬁm@r@ e Be IoRRE
117,640 T @32 9O TSRS 18,522 brw
22T, ST ELH @ HE T efa 3 |

(¥) 787 <ol @4 & Reedl T 2208 6 &
T FeA Al RS N IR 2R |
fnfiRe 13 crra o gawa  %ma SR w0
RS #iie oy ffg 39 ¢ (7) T hiftee ome
2w R wey 9ns, @32 (i) 3 FRbe

foe & w3 Roedit w7y 4= |

(o) 3w :

logx logy log:z
y~z z-x XxX-y
o O@ RS x* Pzt = 1.

- (7) 1 2Ze 100 “8 snafFE w3 8 5 aM

Rrerey wrz a5 104 LR Q@ R aw |

(8) a, b @tc I FEw AATS M @R
1 1= 2

. =} = nf ; 3 —— I -
a=b=c¢c WI @ CZI,x 7 ¥
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(12)

(5) AT 4 ¢
1
Elog1025—210g103+10g1018
(%) T a, b, c TG AT AT S RS A,

(b+c), (c+a),(a+b) ¢ Ao
YA |

() it p =12 x"p, T, IH n &F fefg
- 99, Cﬂ‘mnﬁaﬁ?ﬂmmﬂﬁ |

ol (& I @fF 20IE U S 3 SE XS
(%) (i) Provethat
opy-logz' Jogz-logx  logx-logy _ |,
(if) If "P, : "P,=2: 1 find the value of n.
(ii})Solve x* — 15x + 56 = 0. ¢Fete

() () e IS ete 6 (= ?
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(13)

(if)as TfE @S T 4000 B 41 FEEH,
& ol RS 5% 5 e 6 16 710+ e
ATy T 233 | B = (9 e Tl e
AR (I R vézm | B «fEw=
fadfgma 1 A ¢+ >
. GROUP -B
( Statistics )

[ Marks 145 ]

g1 @M A5 Uedd OB WS 8 yxe
() 15 sy fefcy ST Py ST ¥4 |

(z) oS ig=26-8 G ST = 279 230 FLANIE
AR W TS 2R ?

(o) fftre B gecs & (@R ?

(7) el ¢ waa R Ao e & @R 7

(&) o Feirs & IR 7 SR RN (F1 |

(5) 'Geometric mean’ zoire fF Al 7 22 @
2iTars SrEd T4 |
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(14)

(%) =il ooy 7ece & @ 7
(&) Lorentz Curve & ?

¢l UGN FAG ACREEAME T gxs
(F) “Recnw afers [ @ ? 5317 guw RS
T A I |

(%) Calculate the correlation co-efficient from
the following data :

x |12 {11 {26|9 |16]13]22 |26}
y |17 {7 [31]20}27]18(38 31

(57) Frafirs =t Rrorem 220e 21 CTARe 109
T 725, WF UG x &7 A T 3 ¢

Marks | 30-3940-49 |50-59 [60-69| 70-79 | 80-89 [90-99

No. of
students 2. [ 3 |11 [20] x | 25| 7

() %ﬂ%ﬁﬁ‘@?}]fiw'ﬁsher's o 5 TR
fefaags
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Commodity 2010 2018
: Price quantity Price quantity
4 8 6 12 5
B .10 .35 * 11 6
c 7 8 8§ 5

(8) 'ﬁﬁ%aﬁmaﬁwﬁmmmw

93
Country FDI
(in crore)
Germany 350
Japan 160
UK 480
USA. 1200
Australia - 260
Canada 450

(5) 'Scatter diagram' ¥ ? @i Scatter diagram
G TEROH x @t y Sewd W Rin e
correlation @1 C(7A1S |

() 'Linear chressibn' <7 (APl (properties)
TrEe T |
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(16) j

! A G AT TET WS ¢ Se xS
() () Wﬁa@@whﬁﬁmwm |
(if) Pafifrs way 23re afSsmoe "Ry
Femsae
sales 91|97/ 108! 121]67[12451|73| 11|57

Purchase| 71| 75169 [97 [70[91 (39|61 80 (47
¢+ So
(%) () Fefafe frewm 283re W=, 3y @
L MneTA Rm g g

Wages 40-50 {50-60 |60-70{70-80(|80-90] 90-100

No.ofMen| 15 | 33 | 63 | 83 | 100 | 115

¢if) aﬁmm@%@mw | So + ¢

[Wi’@@%‘f WW——-bo 4]
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